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25 + 67 = 92 — 67 = 34 + 66 + 21 =
79 + 258 = 337 — 79 = 76 + 24 + 35 =
100 — 39 = 61 + 39 = 18 + 82 + 60 =
570 — 90 = 480 + 90 = 42 + 18 + 40 =
205 — 177 = 28 + 177 = 61 + 39 + 13 =
46 + 75 = 75 — 46 = 35+ 43 + 65 =
35+ 72 = 72 — 3b = 78 + 22 + 17 =
52 + 48 = 52 — 48 = 36 + 64 + 22 =
Th — hh = 75 + bb = 59 + 41 + 73 =
190 + 80 = 190 — 80 = 66 + 32 + 34 =
108 — 68 = 108 + 68 = 12 + 88 + 19 =
360 + 60 = 360 — 60 = 39+ 11 + 30 =
71 + 55 = 71 — bbh = 52 + 38 + 20 =
73 + 27 = 73 — 27 = 47 + 36 + 53 =
185 — 23 = 185 + 23 = 59 + 31 + 22 =
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(1)

12 X 4 = 120 X 4 = 340 X 2 =
13 X 3= 130 X 3 = 150 X 5 =
15 X 4= 150 X 4 = 120 X 6 =
16 X 3= 160 X 3 = 230 X 4 =
17 X 2= 170 X 2 = 430 X 2 =
12 X 3= 120 X 3 = 380 X 2 =
14 X 2= 140 X 2 = 290 X 3 =
23 X 3 = 230 X 3 = 160 X 4 =
13X 2= 130 X 2 = 110 X 9 =
33 X 3= 330 X 3 = 260 X 3 =
15 X 3= 150 X 3 = 180 X 5 =
16 X 2 = 160 X 2 = 350 X 2 =
17 X 4 = 170 X 4 = 190 X 4 =
25 X 3 = 250 X 3 = 280 X 3 =
11 X 8= 110 X 8 = 370 X 2 =
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3 X 9= 12 X 10 = 120 X 10 =
21+ 3= 14 X 30 = 140 X 30 =
3 X 10 = 17 X 40 = 17 X 400 =
7TX 9= 26 X 30 = 260 X 30 =
63 + 7= 18 X 50 = 18 X 500 =
7 X 10 = 13 X 20 = 130 X 20 =
b X 9= 12 X 40 = 120 X 40 =
45 + 5 = 23 X 30 = 230 X 30 =
h X 10 = 22 X 30 = 220 X 30 =
9 X 9= 41 X 20 = 410 X 20 =
81 +9 = 21 X 40 = 21 X 400 =
9 X 10 = 33 X 20 = 33 X 200 =
16 X 9= 31 X 20 = 31 X 200 =
144 + 16 = 11 X 70 = 110 X 70 =
16 X 10 = 22 X 40 = 22 X 400 =
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(3) 5
19 X 40 = 16 X 50 = 56 X 20 =
190 X 40 = 160 X 50 = 26 X 20 =
19 X 400 = 16 X 500 = 43 X 30 =
13 X 20 = 11 X 40 = 52 X 10 =
130 X 20 = 110 X 40 = 23 X 30 =
13 X 200 = 11 X 400 = 12 X 70 =
24 X 20 = 1100 X 4 = 60 X 15 =
240 X 20 = 18 X 20 = 28 X 10 =
24 X 200 = 180 X 2 = 37 X 20 =
21 X 30 = 18 X 200 = 30 X 22 =
210 X 30 = 180 X 20 = 140 X 20 =
21 X 300 = 25 X 4 = 21 X 400 =
20 X 43 = 200 X 4 = 14 X 200 =
200 X 43 = 25 X 40 = 250 X 30 =
20 X 430 = 25 X 400 = 110 X 90 =
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o0 X 16 = 47 X 20 = 12 X 60 =
19 X 50 = 27 X 50 = 31 X 40 =
23 X 20 = 150 X 5 = 30 X 16 =
70 X 6 = 70X 9= 50 X 8 =
70 X 5 = 15 X 5 = 25 X 3 =
36 X 2= 19 X 4 = 29 X 3 =
17 X 3 = 40 X 8 = 12 X7 =
30 X 5= 160 X 3 = 13 X 6 =
8 X 10 = 190 X 2 = 80 X 50 =
21 X 4 = 45 X 2 = 240 X 2 =
9 X 60 = 12 X 30 = 11 X 50 =
31 X 10 = 31 X 30 = 33X 2=
13 X 30 = 50 X 18 = 30 X 3 =
40 X 9 = 16 X 20 = 22 X 40 =
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(1) 5
23 X 20 = 60 X 12 = 50 X 50 =
23 X 2 = 70 X 13 = 32 X 30 =
460 + 46 = 54 X 20 = 24 X 40 =
11 X 20 = 30 X 18 = 33 X 20 =
11 X 5= 19 X 20 = 64 X 30 =
220 + 55 = 22 X 40 = 60 X 60 =
24 X 10 = 31 X 20 = 11 X 30 =
24 X 2 = 80 X 80 = 35 X 10 =
240 + 48 = 11 X 50 = 70 X 20 =
22 X 10 = 21 X 40 = 80 X 70 =
22 X 3 = 50 X 60 = 36 X 10 =
220 + 66 = 21 X 30 = 12 X 40 =
11 X 80 = 11 X 70 = 16 X 10 =
11 X 6= 21 X 20 = 90 X 50 =
880 + 66 = 11 X 90 = 31 X 30 =
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14 X 5= 14 X 50 = 70 + 700 =
42 X 2 = 42 X 20 = 84 + 840 =
16 X 3 = 16 X 30 = 48 + 480 =
19 X 2= 19 X 20 = 38 + 380 =
37T X 2= 37 X 20 = 74 + 740 =
12 X 2= 12 X 20 = 24 + 240 =
31 X 2= 31 X 20 = 62 + 620 =
21 X 1 = 21 X 10 = 21 + 210 =
44 X 2 = 44 X 20 = 88 + 880 =
21 X 3 = 21 X 30 = 63 + 630 =
12 X 3= 12 X 30 = 36 + 360 =
33 X 2= 33 X 20 = 66 + 660 =
14 X 2= 14 X 20 = 28 + 280 =
23 X 2= 23 X 20 = 46 + 460 =
22 X 2 = 42 X 10 = 44 + 420 =
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(3) g
17 X 20 = 17 X6 = 340 + 102 =
26 X 30 = 26 X 3 = 780 + 78 =
24 X 40 = 24 X b = 960 + 120 =
18 X 30 = 18 X 6 = 540 + 108 =
21 X 40 = 21 X 5= 840 + 105 =
19 X 20 = 19 X 7= 380 + 133 =
15 X 30 = 15 X 3 = 450 + 45 =
14 X 50 = 24 X 6 = 700 + 144 =
28 X 20 = 28 X 3 = 560 + 84 =
11 X 60 = 11 X 7= 660 + 77 =
12 X 40 = 12 X 5 = 480 + 60 =
13 X 50 = 13 X 6= 650 + 78 =
51 X 10 = 01 X 2= 510 + 102 =
11 X 80 = 11 X9 = 880 + 99 =
21 X 20 = 21 X 6= 420 + 126 =
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39 X 20 = 19 X 50 = 46 X 2 =
b3 X 3 = 3T X 2= 27 X 50 =
42 X 20 = 19 X 40 = 32 X 30 =
b X 16 = 16 X 4 = 40 X 15 =
11 X 30 = 23 X 20 = 21 X 30 =
61 X 40 = 23 X 4 = 45 X 20 =
41 X 50 = 54 X 20 = 76 X 3 =
47 X 2 = 47 X 60 = 256 X 6 =
17 X 3= 78 X 8 = 62 X b =
23 X h = 15 X 60 = 56 X 3 =
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14 X 2 = 28 X 3 = 14 X2 X 3=
13 X 6 = 78 X 2 = 13 X6 X 2=
18 X 3 = h4 X 2 = 18 X 3 X 2=
22 X 4 = 88 X 3 = 22 X4 X 3=
26 X 3 = 78 X 5 = 20 X 3 X 5=
11 X 3= 33 X 2 = 11 X (3 X2) =
20 X h = 100 X 7 = 20X b X 7=
21 X 2 = 42 X 4 = 21 X 2 X 4 =
32 X 2= 64 X 2 = 32X (2X2) =
12 X 5 = 60 X 3 = 12 X5 X 3=
25 X 4 = 100 X 6 = 20 X4 X 6=
21 X 10 = 210 X 3 = 21 X (10 X 3) =
34 X 2 = 68 X 10 = 34 X 10 X 2 =
17 X 3 = 51 X 10 = 17 X 3 X 10 =
11 X 4 = 44 X 2 = 11 X (4X2) =
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(6) 5
240 -6 = 40 =~ 4 = 240 =6 -4 =
360 ~ 2 = 180 = 3 = 360 = (2 X 3) =
450 +~ 3 = 150 ~ 3 = 450 ~ 3 + 3 =
240 + 2 = 120 = 2 = 240 + (2 X 2) =
350 +~ 7= 50 +~ 2= 350 =7+ 2=
30+ 2= 15 +5= 30 +2+05=
60 = 6 = 10 + 2 = 60 -6+ 2=
160 ~ 4 = 40 —- 2 = 160 +~ (4 X 2) =
240 + 3 = 80 +~ 2 = 240 + (3 X 2) =
560 + 7 = 80 +~ 8 = 960 ~ 7+ 8 =
280 +~ 4 = 0+7= 280 4+ 7=
270 — 3 = 90 +~ 3 = 270 = (3 X 3) =
804 + 2 = 402 + 2 = 804 = (2 X 2) =
816 +~ 4 = 204 =+ 2= 816 ~ (4 X 2) =
3500 ~ 7 = 500 + 5 = 3500 =7 +5=
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17 X 30 = 510 + 36 = 30 X 4 X 50 =
92 X 2 = 184 — 76 = 34 X 20 — 54 =
42 X 40 = 1680 — 700 = 15 X 2 X 80 =
16 X 5 = 80 —~ 4 = 21 X 30 — 30 =
24 X b= 120 —~ 3 = 300 — 15 X 10 =
27 X 30 = 810 ~ 9 = 808 ~ 4 + 110 =
22 X 6= 132 -2 = 25 X 8 +hHh=
17 X 40 = 680 + 20 = 32 X 30 + 36 =
120 X 8 = 960 — 800 = 18X (4+2) =
110 X 60 = 6600 + 400 = (1000 — 440) — 7 =
13 X 200 = 2600 — 500 = 756 + 24 — 600 =
22 X 4 = 88 — 78 = 156 — 82 — 28 =
45 X 2 = 90 -9 = 32 X (11 —8) =
25 X 4 = 100 + 120 = 15 X 20 + 30 =
26 X b = 120 -6 = 30 X 11 — 240 =
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48 480 920 | 480 4400 900 220 840 5600 @ 510 102 612
34 340 860 | 4800 360 280 66 3000 360 880 99 979
36 360 760 | 4800 360 740 286 630 480 420 126 546
28 280 870 630 3600 660 | 880 770 160 o
3 3 | % 33 |
69 690 640 6300 3600 2800 66 420 4500
i i L 560 760 690
2 260 990 6300 100 8400 = 946 990 930
! ; 780 950 92
99 990 780 = 860 1000 2800 -
; i e 159 74 1350
45 450 900 8600 1000 7500 ;
1 70 700 770 840 760 960
32 320 700 | 8600 10000 9900 ;
1 o84 840 924 | 80 64 600
68 680 760 - ;
o) R 48 480 528 330 460 630
75 750 840 : ;
560 64 120 38 380 418 2440 92 900
88 880 740 : ;
800 910 720 74 740 814 | 2050 1080 228
%21 R 950 1350 1240 24 240 264 94 2820 150
27 120 1200 460 750 480 | 62 620 682 51 624 310
30 420 4200 420 630 400 21 210 231 115 900 168
30 630 6800 = 350 75 75 88 880 968 3600 720 720
63 780 7800 72 76 87 63 630 693 2000 144 750
70 900 9000 51 320 84 36 360 396 126 315 200
70 260 2600 150 480 78 66 660 726 840 108 1400
45 480 4800 80 380 4000 28 280 308 | o
3 3 %34
50 690 6900 = 84 90 480 = 46 460 506
s s 28 84 84
50 660 6600 540 360 550 @ 44 420 464
s s 78 156 156
81 820 8200 310 930 66 -
: : s R 54 108 108
90 840 8400 390 900 90 |
s 340 102 442 88 264 264
90 660 6600 360 320 880 |
s 780 78 858 78 390 390
144 620 6200 - |
s G 960 120 1080 33 66 66
160 770 7700 | s
460 720 2500 540 108 648 100 700 700
160 880 8800 3 s
46 910 960 840 105 945 | 42 168 168
w28 506 1080 960 380 133 513 64 128 128
760 800 1120 220 540 660 450 45 495 60 180 180
7600 8000 520 55 380 1920 700 144 844 100 600 600
7600 8000 1290 275 880 3600 560 84 644 210 630 630
260 440 520 240 620 330 660 77 737 68 680 680
2600 4400 690 48 6400 350 480 60 540 51 510 510
ﬁ! 2600 4400 840 288 550 1400 650 78 728 | 44 88 88
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10 0 10 120 810 10 297 583 913 100 650 322
180 60 60 680 600 450 176 891 825 630 2440 83
50 50 50 62 560 110 671 264 561 80 216 80
190 60 60 640 960 110 462 165 539 90 3000 250
50 95 95 600 700 800 396 451 748 720 1890 8
15 5 3 3500 5400 800 253 572 869 143 190 494
10 5 5 360 700 10 374 693 968 i % 42 7
40 20 20 120 100 10 154 517 1001
3 9 200 15
80 40 40 840 1400 50 407 616 957
2000 2000 50 310 50 10
80 10 10 5 40 7
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90 30 30 720 980 336
< < > 90 330 10
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98 129 160 385 275 627 440 880 80 840 707 74
740 720 1800 @ 484 473 715 4200 960 15 . 3300 990 13
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1 (1)23X4=(92)
A 20X 4=(80)
3X4=(12)
(80)+(12)=1(92)
230X 4=1(920)
AH.200X 4= (800)
30X 4=(120)
(800) 4 (120)=(920)
(2)28X5=(140)
A8 (20) X5=(100)
(8) X5=(40)
(100) 4+ (40)=(140)
280X 5=(1400)
A5, (200) X 5=(1000)
(80) X5=(400)
(1000)+ (400) = (1400)
(3)36X4=(144)
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(6) X (3)=(18)
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(99) X (10)=1(990)
(8)22X40=2880
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21X (2)=(42)
(42) X 100=(4200)
(4)32X300=(9600)
HH:(32) X (3)=1(96)
(96) X (100)=(9600)
(5)230X 30=(6900)
. (23) X (3)=(69)
(69) X (100)=(6900)
(6)42X200=(8400)
. (42) X (2)=(84)
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(7)24X200=(4800)
. (24) X (2)=(48)
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